Bid Contact Mike Marracino Address 1753 E BROADWAY RD STE 101-514 bidsus@hypertec.com TEMPE, AZ 85282

bidsus@hypertec.com Ph 480-626-9000 Fax 480-626-9001

Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-

VENDORINFO PP-VOSB PP-W9

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
TS-19-0201-01	Chromebook	Supplier Product Code: 81MH0006US	First Offer - \$255.66	459 / each \$117,347.94	Υ	Υ
TS-19-0201-02	Chromebook Mgmnt License	Supplier Product Code: CROSSWDISEDU	First Offer - \$23.40	459 / each \$10,740.60	Y	Y
TS-19-0201-03	Chromebook Cart	Supplier Product Code:	First Offer - \$0.00	15 / each \$0.00		Y
TS-19-0201-04	Desktops	Supplier Product Code: HAO120001B00000	First Offer - \$491.58	90 / each \$44,242.20	Υ	Υ
TS-19-0201-05	Desktops	Supplier Product Code: HAB250011B00000	First Offer - \$647.35	10 / each \$6,473.50	Υ	Υ
TS-19-0201-06	Document Cameras	Supplier Product Code: 1771044	First Offer - \$590.82	8 / each \$4,726.56	Υ	Υ
TS-19-0201-07	Interactive Systems	Supplier Product Code: 1762262	First Offer - \$958.16	4 / each \$3,832.64	Υ	Υ
TS-19-0201-08	Microsoft Surface Pro	Supplier Product Code: LQJ-00016	First Offer - \$1,720.00	4 / each \$6,880.00	Υ	Υ
TS-19-0201-09	Microsoft Surface Pro Keyboard	Supplier Product Code: FFQ-00041	First Offer - \$118.16	4 / each \$472.64	Υ	Υ
TS-19-0201-10	Microsoft Surface Pro Mouse	Supplier Product Code: KGZ-00011	First Offer - \$26.00	4 / each \$104.00	Υ	Υ
TS-19-0201-11	Microsoft Surface Pro Styus	Supplier Product Code: EYV-00025	First Offer - \$73.00	4 / each \$292.00	Y	Υ
TS-19-0201-12	Printer	Supplier Product Code: W1A53A#BGJ	First Offer - \$204.00	36 / each \$7,344.00	Υ	Y
TS-19-0201-13	Projectors	Supplier Product Code: NP-ME331W	First Offer - \$525.00	31 / each \$16,275.00	Υ	Y
TS-19-0201-14	Projector Ceiling Mount	Supplier Product Code: NP01UCM	First Offer - \$76.41	31 / each \$2,368.71	Y	Y

TS-19-0201-15	SMART Boards 77	Supplier Product Code: SBM680	First Offer - \$2,247.88	5 / each	\$11,239	.40	Υ	Υ
				Supp	olier Total	\$232,	339.19	

Item: Chromebook

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT

Modified Date Jul 11, 2019 09:22 AM MDT

Doc# 59887 - rev 1 of 1

Description Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

	roducts	to a coma					
*	lmage	Description	Port	Yas	City	Unit Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255,66	\$117,347.94
2	\$14 177-17-1	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	uty <u>u</u> ,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	90	\$107.04	\$9,633.60
5	Risk maybolo	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.12 st — schala	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	Dit.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10)	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	lorage	Description	Part 5	Tak	Qsy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	L.C.	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00.	\$16,275.00
17	۶	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



DATE (MINDODAY 92Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS MSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE DED RETENTIONS WORKERS COMPENSATION X JOTH PER AND EMPLOYERS' LIABILITY STATUTE ANY PROPRIETOR/PARTNER EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 17 E.L. EACH ACCIDENT \$1,000,000 N/ A 76 WEG DR2809 04/16/2018 04/16/2019 (Mandatory in NH) E.L. DISEASE -EA EMPLOYEE \$1,000,000 If ves, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT \$1,000,000 DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY CERTIFICATE HOLDER

FOR INFORMATIONAL PURPOSES ONLY 1753 E BROADWAY RD STE 104-514 TEMPE AZ 85282-2081

CANCELLATION

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

Sugar S. Castaneda

BidSync

Item: Chromebook Mgmnt License

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

- 1	Pro	ducts						
	13	lmage	Description	Parti	Yan	City	Unit Price	Total
	1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459		\$117,347.94
	2	Sid.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
	3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	1	JYL,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
į	5	Risi Marchine	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6	ò		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	7		IGEL Workspace Editlon for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	3	14.70	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9)		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
1	0		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	lorage	Description	Part #	Tak	Qsy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4.2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	1.0.1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	٨	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



DATE (MINDED DAY 92Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT NAME: AUTOMATIC DATA PROCESSING INSIAGCY PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07982 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PACIFICATE MAY BE ISSUED OR MAY PAC

LTR			SUBR		POLICY EFF	POLICY EXP		LIMITS	
	COMMERCIAL GENERAL CABILITY	1000	FIELD		(MM/DD/YYYY)	(MM/DD/YYYY)	EACH OCCURRE	//	
	CLAIMS-MADE OCCUR		'				DAMAGE TO REN		
		ļ	1				PREMISES (Ea co		
+		ļ	ļ				MED EXP (Any on		
1	CENTRA ACCRECATE LANGUAGE DOWN		!				PERSONAL & AD	INJURY	
ļ	GEN'L AGGREGATE LIMIT AFFILES PER:						GENERAL AGGRE	GATE	
	JECT LIGHT						PRODUCTS - CON	/IP/OP AGG	
	OTHER:	!		İ	1				
	AUTOMOBILE LIABILITY					- Transaction	COMBINED SINGL (Ea accident)	E LIMIT	
	ANY AUTO					ļ	BODILY INJURY (F	er person)	
-	AUTOS ACTOS						BODILY INJURY (***************************************	
	HIRED AUTOS ALTOS				THE COLUMN TO TH		PROPERTY DAMA (Per accident)	GE	
	UMBRELLA LIAB OCCUR EXCESS LIAB CLAIMS-MADE			THE VIEW PROPERTY OF THE PROPE			EACH OCCURREN	ICE	
	05 111.05 115			1	-		AGGREGATE		
	DED RETENTION S							•	
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER EXECUTIVE YM						PER STATUTE	X OTH-	
A	OFFICER/MEMBER EXCLUDE: 17	NA		76 WEG DR2809	04/16/2018	04/16/2019	E.L. EACH ACCIDS	NT	\$1,000,000
	(Mandatory in NH) If yes, describe under	The state of the s				04/10/2010	E.L. DISEASE -EA	EMPLOYEE	\$1,000,000
	DESCRIPTION OF OPERATIONS below						E.L. DISEASE - PO	LICY LIMIT	\$1,000,000
	ļ								
	1	 							
DESC	RIPTION OF OPERATIONS / LOGATIONS / VEHICLE	ES (60)	OPD 10	1 Additional Development Colored	<u> </u>				
Thos	se usual to the Insured's Operations. FOR	SINEC	JEMAY,	t, Addiconal Remarks Schedula, TIONAL DIIDDOCCO ONI	, may be attached if n	nore space is require	id)		
L	. The man of a reportation to t	7 /1 W. C	V. 21419.4	HOWAL FUNFOSES ON	1				

CERTIFICATE HOLDER FOR INFORMATIONAL PURPOSES ONLY

1753 E BROADWAY RD STE 104-514

TEMPE AZ 85282-2081

CANCELLATION

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

Sugar S. Castaneda

Item: Desktops

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235 **Customer Contact**

(P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Office, Purchasing

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

P	roducts						
13	lmage	Description	Port	Yas	: Circ	Unti Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459		\$117,347.94
2	Šiti.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662.20
4	utyk.	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	Risk maybelle	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.12 H = 40.454	IGEL Workspace Editlon for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	tu 	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10	1	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958.16	\$3,832.64

		. ,					_
18	ionage	Description	Part #	Tak	Osy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	L. <u>C.</u> 1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Ceiling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	certificate holder in lieu of such endorse	ement(s).			•			. Highto to the
1	ODUCER			CONTACT NAME:				THE TAXABLE PARTY OF THE PARTY	
5	JTOMATIC DATA PROCESSING INS	AGC	Υ		(877)	287-1316		FAX: (888) 4	43-6112
1	3250717			(A/C, No, Ext):	(01.1.)	7207-1010		(A/C, No):	43-0112
1	HANOVER ROAD			E-MAIL					
FL	ORHAM PARK NJ07902			ADDRESS:					
							AFFORDING COVER	AGE	NAIC#
				INSURER A: Ha	artford	d Fire and Its P	&C Affiliates		00914
INS	SURED			INSURER B:					
H	PERTEC USA, INC			INSURER C :					
17	53 E BROADWAY RD 3TE 101-514			INSURER D :		,			
ÌΈ	MPE AZ 85282-1590			INSURER E :					
	WEDACES			RESURER F:					
	VERAGES CERTIFY THAT THE SOLICIES	OF INS	ATE NUM	MBER:	LELANCE	E APPLI LOCUES	REVISI	ON NUMBER:	
Ċ	HIS IS TO CERTIFY THAT THE POLICIES INDICATED NOTWITHSTANDING ANY REQUIRENTIFICATE MAY BE ISSUED OR MAY TERMS, EXCLUSIONS AND CONDITIONS OF SIGHT	TSAG	AIN, THE OLICIES.	F INSTIDANCE	AEEOE	ANY CONTRAC ROED BY THE AVE BEEN REDUC	I OR OTHER E POLICIES DESC ED BY PAID GLA	OCUMENT WITH RESPECT	
LTR	TYPE OF INSURANCE	INSR V		POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMITS	
	COMMERCIAL GENERAL GABILITY						140000000000000000000000000000000000000	EACH OCCURRENCE	
	CLAIMS-MADE OCCUR					1		DAMAGE TO RENTED	
								PREMISES (Ea cocurrence) MED EXP (Any one person)	
								PERSONAL & ADV INJURY	
	GEN'L AGGREGATE LIMIT AFTUES PER							GENERAL AGGREGATE	
	POLICY PRO-							PRODUCTS - COMP/OP AGG	
	OTHER:				;				
	AUTOMOSILE LIABILITY							COMBINED SINGLE LIMIT	
	ANY AUTO	1	Ì					(Ea accident)	
	ALL OWNED SCHEDULED		_					BODILY INJURY (Per person)	
	AUTOS ALTOS NON-OWNED	<u>-</u>						BODILY INJURY (Per accident)	
	HIRED AUTOS AL TOS							PROPERTY DAMAGE (Per accident)	
	UMBRELLA LIAB OCCUR								
	EXCESS LIAB CLAIMS-MADE		-					EACH OCCURRENCE	
	DED RETENTIONS				ĺ	[AGGREGATE	
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY	•						PER X OTH-	
Α	ANY PROPRIETOR/PARTNER EXECUTIVE YIN		_					STATUTE A ER	¢4 000 000
М	OFFICER/MEMBER EXCLUDE: 17 (Mandatory in NH)	N/A	-	6 WEG DR280	09	04/16/2018	04/16/2019		\$1,000,000
	If yes, describe under	-						E.L. DISEASE -EA EMPLOYEE	\$1,000,000
	DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT	\$1,000,000
	<u> </u>								
	-		_						,
DESC	PRIPTION OF OPERATIONS / LOCATIONS / VEHICLES	S (ACOR	D 101 Add	litianal Damades Cali		j			
Tho:	se usual to the Insured's Operations. FOR	INFOR	MATION	IAL PURPOSES	reauta, ; CONIC	may be attached if m	iore space is require	ed)	
	RTIFICATE HOLDER								
	R INFORMATIONAL PURPOSES ON	V				CANCELLATIC			
	3 E BROADWAY RD STE 104-514	J			SH	IOULD ANY OF T	HE ABOVE DESC	CRIBED POLICIES BE CANO	ELLED BEFORE
	MPE AZ 85282-2081				AC	CORDANCE WITH	DAKE THERE	OF, NOTICE WILL BE	DELIVERED IN
, — 1V	11 L ML 00202-2001					THORIZED REPRESE		COLICIONO,	
					10	uean S. C	astaned	2	
									and the state of t

BidSync

Item: Desktops

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235 **Customer Contact**

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

> The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

P	roducts						
核	lmage	Description	Parti	Yas	Gry	Unti Price	Total
1	C	Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459		\$117,347.94
2	\$ N	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	.174.,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	Right	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	\$0.5 M-40.444	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107.04	\$1,070.40
8	200	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

14	image	Description	Part #	Yak.	Ory	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	LES	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



DATE (MINDOD9Y92Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the

	ertificate holder in lieu c? such endors	emer	it(s).					•
	DDUCER ITOMATIO DATA DBOOGEOGIACO ING		~~	CONTACT NAME:				
	JTOMATIC DATA PROCESSING INS 250717	AG:	CY		7) 287-1316		FAX: (888)	443-6112
				(A/C, No, Ext):	.,		(A/C, No):	440-0112
	HANOVER ROAD ORHAM PARK NJ07932			E-MAIL ADDRESS:				
1 1	OKIAWI FAKK NJU/802			7.22	INSTIRER(S) A	FFORDING COVER	ACE	h+115.7
				Liseupen L. Hoeffe	ord Fire and Its P		4GE	NAIC#
INSI	URED				ord Fire and its P	&C Amiliates		00914
	PERTEC USA, INC			INSURER B:				
	53 E BROADWAY RD 3TE 101-514			INSURER C:				
	MPE AZ 85282-1590			SNSURER D:				
'-	WIE E AZ 00202-1090			INSURER E :				
				RESURER F :		, , , , , , , , , , , , , , , , , , , ,		
	VERAGES CEPTIEN THAT THE CONTROL	TIF	CATE NU	MBER:		REVISI	ON NUMBER:	
C Ti	HIS IS TO CERTIFY THAT THE POLICIES IDICATED NOTWITHSTANDING ANY REQUESTIFICATE MAY BE ISSUED OR MAY ERTIFICATE MAY BE ISSUED OR MAY ERMS, EXCLUSIONS AND CONDITIONS OF SE	PEF	RTAIN, THE POLICIES	WE INSTIDANCE ARE	OPDED BY THE	OR OTHER D	OCUMENT WITH RESPEC	
LTR	TYPE OF INSURANCE	ADDL	SUBR	POLICY NUMBER	POLICY EFF	POLICY EXP	LIMIT	S
	COMMERCIAL GENERAL GABILITY	pati A (PP P B	-		(MM/DD/YYYY)	(MM/DD/YYYY)	EACH OCCURRENCE	
	CLAIMS-MADE OCCUR				•		DAMAGE TO RENTED	
							MED EXP (Any one person)	
							PERSONAL & ADV INJURY	
	GEN'L AGGREGATE LIMIT AFFLIES PER:						GENERAL AGGREGATE	
	POLICY PRC- LCC						PRODUCTS - COMP/OP AGG	
	OTHER;							
	ALITOMOSSII PALADUATY						CONSIDER ON THE	
	AUTOMOBILE LIABILITY						COMBINED SINGLE LIMIT (Ea accident)	
	ANY AUTO ALL OWNED SCHEDULED						BODILY INJURY (Per person)	
	AUTOS ACTOS						BODILY INJURY (Per accident)	
	HIRED AUTOS NON-OWNED AL TOS				7		PROPERTY DAMAGE	-
							(Per accident)	
	UMBRELLA LIAB OCCUR						EACH OCCURRENCE	
	EXCESS LIAB CLAIMS-MADE						AGGREGATE	
	DED RETENTIONS						TOOKLONIE	
	WORKERS COMPENSATION	·~~						
	AND EMPLOYERS' LIABILITY						PER X OTH- STATUTE X ER	
Α	ANY PROPRIETOR/PARTNER: EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 77	N/A		76 WEG DR2809	04/16/2018	04/16/2019	E.L. EACH ACCIDENT	\$1,000,000
	(Mandatory in NH)	.,,,,		, C 1120 D112000	0471072010	04/10/2019	E.L. DISEASE -EA EMPLOYEE	\$1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$1,000,000
-								\$1,000,000
	ļ.					17.1		
				7,00		Ì		
JESC Choo	RIPTION OF OPERATIONS / LOCATIONS / VEHICLE	S (ACC	ORD 101, Ad	iditional Remarks Schedul	lo, may be attached if m	ore space is require	d)	
	se usual to the Insured's Operations. FOR	INFO	ORMATIO	NAL PURPOSES ON	1LY			İ
	TIFICATE HOLDER				CANCELLATIO	N		
	R INFORMATIONAL PURPOSES ON	L,Y			SHOULD ANY OF T	HE ABOVE DESC	RIBED POLICIES BE CAN	ICELLED BEFORE
	B E BROADWAY RD STE 104-514			1 7	THE EXPIRATION	DATE THERE	OF, NOTICE WILL BE	DELIVERED IN
⊏IV	IPE AZ 85282-2081				ACCORDANCE WITH AUTHORIZED REPRESE		OVIDIONS.	·
				<	Sugan F. C	astanedo	2	
								and the second s
							THE PARTY OF THE P	

Item: Document Cameras

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes
DELIVERY - 30 DAYS ARO

Quotation (Open)

Date

Jun 26, 2019 02:15 PM MDT

Modified Date

Jul 11, 2019 09:22 AM MDT

Doc#

59887 - rev 1 of 1

Description

Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep

Dickinson, KC

(P) 866-787-0426 ext. 4235

Customer Contact

Office, Purchasing

(P) 954-704-1259

(F) 954-518-8902

purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info Customer PO:

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground

Carrier Account #:

Products

М	oaucts							
核	lmage	Description	Parti	Yas	City	Unti Prico	Total	
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255.66	\$117,347.94	
2	\$50 50000	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60	
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20	
4	JWL,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60	
5	Risk Today (1-10	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40	
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50	
7	\$0.5 H-00.494	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	10	\$107.04	\$1,070.40	
8	Til.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60	
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56	
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958.16	\$3,832.64	

#	lorage	Description	Part #	Tak	Qsy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4.2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	1.0.1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	٨	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

ter	PORTANT: If the certificate holder is ms and conditions of the policy, cer rtificate holder in lieu of such endors	an Al	DDITION policies	AL INSURED, the poli	cy(ies) must be rsement. A stat	endorsed. If St ement on this o	JBROGATIONIS WAIVED, certificate does not confe	subject to the r rights to the
PROD	UCER			CONTACT				
AUT	OMATIC DATA PROCESSING INS	SAG	CY	NAME:				
762	50717			PHONE (877) (A/C, No, Ext):) 287-1316		FAX: (888) 44	13-6112
71 F	ANOVER ROAD			E-MAIL			(A/C, No):	
	RHAM PARK NJ07932			ADDRESS:				
						AFFORDING COVERA	\GE	NAIC#
				INSURER A: Hartford	d Fire and Its P	&C Affiliates		00914
INSUR				INSURER B :				
	ERTEC USA, INC			INSURER C :				
1753	BE BROADWAY RD STE 101-514			WSURER D :	,			
TEM	IPE AZ 85282-1590			INSURER E :				
				NSURER F:				
COV	ERAGES CE	RTIFIC	CATE NU			70 FT 1 1 CO.	A12 111 112	
THI IND CEI	S IS TO CERTIFY THAT THE POLICIES ICATED NOTWITHSTANCING ANY REQUESTIFICATE MAY BE ISSUED OR MAY	OF IN	SURANCENT, TER	E LISTED BELOW HAV	ANY CONTRAC	TO THE INSURE T OR OTHER D	OCUMENT WITH RESPECT	
azord	RMS, EXCLUSIONS AND CONDITIONS OF A TYPE OF INSURANCE	ADDL	SUBR	POLICY NUMBER	POLICY EFF	ED BY PAID CLAI		
LTR	COMMERCIAL GENERAL GABILITY	INSR	WVĐ	POLICI NUMBER	(MM/DD/YYYY)	(MM/DD/YYYY)	LIMITS	
<u>-</u>						-	EACH OCCURRENCE	
	CLAIMS-MADE DCGUR	ļ <u>.</u>					DAMAGE TO RENTED PREMISES (Ea occurrence)	
							MED EXP (Any one person)	
F							PERSONAL & ADV INJURY	
[BEN'L AGGREGATE LIMIT AF-LIES PER:						GENERAL AGGREGATE	
	POLICY JECT LOC				ĺ		PRODUCTS - COMP/OP AGG	
	OTHER:							
1	AUTOMOBILE LIABILITY						COMBINED SINGLE LIMIT	
-	ANY AUTO				<u> </u>		(Ea accident)	
-	ALLOWNED SCHEDULED						BODILY INJURY (Per person)	
_	AUTOS AC. FOS						BODILY INJURY (Per accident)	
	HIRED AUTOS NCN-OWNED ALTOS						PROPERTY DAMAGE	
							(Per accident)	
	UMBRELLA LIAB OCCUR						EACH OCCURRENCE	
L	EXCESS LIAB CLAIMS-MADE						AGGREGATE	
	DED RETENTION S						a now well than here to be	
V	VORKERS COMPENSATION							
A	ND EMPLOYERS' LIABILITY	ĺ					PER X OTH-	
Αlâ	NY PROPRIETOR/PARTNER: EXECUTIVE Y/N	NA		76 WEG DR2809	04/16/2018	04/46/0040	E.L. EACH ACCIDENT	\$1,000,000
- {	Mandatory in NH)			70 WEG DIX2009	04/10/2018	04/16/2019	E.L. DISEASE -EA EMPLOYEE	\$1,000,000
l li	yes, describe under ESCRIPTION OF OPERATIONS below	Ì			The state of the s		E.L. DISEASE - POLICY LIMIT	\$1,000,000
	The second secon				ı [1		φ1,000,000[

DESCRIPTION OF OPERATIONS / LEGATIONS / VEHICLES (ACORD 101, Additional Remarks Schedula, may be attached if more space is required)
Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY

CERTIFICATE HOLDER
FOR INFORMATIONAL PURPOSES ONLY
1753 E BROADWAY RD STE 104-514

TEMPE AZ 85282-2081

CANCELLATION

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

Swan S. Castaneda

Item: Interactive Systems

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes
DELIVERY - 30 DAYS ARO

Quotation (Open)

Date

Jun 26, 2019 02:15 PM MDT

Modified Date

Jul 11, 2019 09:22 AM MDT

Doc#

59887 - rev 1 of 1

Description

Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep

Dickinson, KC

(P) 866-787-0426 ext. 4235

Customer Contact

Office, Purchasing

(P) 954-704-1259

(F) 954-518-8902

purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info Customer PO:

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground

Carrier Account #:

Products

ы	oaucts						
該	lmage	Description	Parti	Yas	Gry	Unti Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255.66	\$117,347.94
2	AN.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	. W.,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	Risk Today (1-10	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	E-Class	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	Til.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958.16	\$3,832.64

#	brage	Description	Part 8	Tak	Quy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	L.C.	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS MSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE DED RETENTIONS WORKERS COMPENSATION X JOTH PER AND EMPLOYERS' LIABILITY STATUTE ANY PROPRIETOR/PARTNER EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 17 E.L. EACH ACCIDENT \$1,000,000 N/ A 76 WEG DR2809 04/16/2018 04/16/2019 (Mandatory in NH) E.L. DISEASE -EA EMPLOYEE \$1,000,000 If ves, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT \$1,000,000 DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY CERTIFICATE HOLDER CANCELLATION FOR INFORMATIONAL PURPOSES ONLY

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

ACCORDANCE WITH THE POLICY PROVISIONS
AUTHORIZED REPRESENTATIVE

Sugar S. Castanudas

1753 E BROADWAY RD STE 104-514

TEMPE AZ 85282-2081

Item: Microsoft Surface Pro

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

P	roducts						
核	lmage	Description	Parti	Yas	Gry	Unti Price	Total
1	C	Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459		\$117,347.94
2	\$ N	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	.174.,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	Right	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	\$0.5 M-40.444	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107.04	\$1,070.40
8	200	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	losage	Description	Part #	Tak	Ory	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14	-	Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16		NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00.	\$16,275.00
17	- 	NEC NP01UCM Ceiling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smorthoard Dural Taxab Internation 1875 to 1	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the

terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS MSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE DED RETENTIONS WORKERS COMPENSATION X JOTH PER AND EMPLOYERS' LIABILITY STATUTE ANY PROPRIETOR/PARTNER EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 17 E.L. EACH ACCIDENT \$1,000,000 N/ A 76 WEG DR2809 04/16/2018 04/16/2019 (Mandatory in NH) E.L. DISEASE -EA EMPLOYEE \$1,000,000 If ves, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT \$1,000,000 DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY CERTIFICATE HOLDER CANCELLATION FOR INFORMATIONAL PURPOSES ONLY SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE 1753 E BROADWAY RD STE 104-514 THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. TEMPE AZ 85282-2081 AUTHORIZED REPRESENTATIVE Sugar S. Castaneda

Item: Microsoft Surface Pro Keyboard

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes
DELIVERY - 30 DAYS ARO

Quotation (Open)

Date

Jun 26, 2019 02:15 PM MDT

Modified Date

Jul 11, 2019 09:22 AM MDT

Doc#

59887 - rev 1 of 1

Description

Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep

Dickinson, KC

(P) 866-787-0426 ext. 4235

Customer Contact

Office, Purchasing

(P) 954-704-1259

(F) 954-518-8902

purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info Customer PO:

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground

Carrier Account #:

Products

Р	roducts						
13	lmage	Description	Parti	Yan	Gry	Unti Price	Total
1	Co	Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255.66	\$117,347.94
2	, \$14.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	uty <u>,</u>	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	Risk majoris	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.50 Market Alpha	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	EU.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10	į.	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958.16	\$3,832.64

		. ,					_
18	ionage	Description	Part #	Tak	Osy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	L. <u>C.</u> 1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Ceiling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	certificate holder in lieu of such endors	emer	it(s).					ocititioate does not come	a rights to the				
1	ODUCER			CONTACT									
5	JTOMATIC DATA PROCESSING IN	S AG	CY	NAME: PHONE ((877)	287-1316		FAX: (888) 4	FAX: (888) 443-6112				
	3250717			(A/C, No, Ext):									
1	HANOVER ROAD			E-MAIL	·								
FL	ORHAM PARK NJ07982			ADDRESS:									
					INSURER(S) AFFORDING COVERAGE NAIC#								
<u></u>				INSURER A: Hai	rtford	Fire and Its P	&C Affiliates		00914				
i	SURED			INSURER B :	NSURER B:								
1	PERTEC USA, INC			INSURER C :	INSURER C :								
17	53 E BROADWAY RD 3TE 101-514			INSURER D									
TE	MPE AZ 85282-1590			INSURER E :									
Ì				NSURER F :									
CC	OVERAGES CE	DTIEL	CATE	NUMBER:									
1	HIS IS TO CERTIFY THAT THE POLICIES	OF I	NSLIRA	NCE LISTED BELOW	HAVE	REEN ISSUED	TO THE INCHES	ON NUMBER:	C DOLLOW MONAS				
Ĉ	CERTIFICATE MAY BE ISSUED OR MAY TERMS, EXCLUSIONS AND CONDITIONS OF	PEF SUCH	RTAIN, POLICI	THE INSURANCE A IES. LIMITS SHOWN M	A OF	ANY CONTRAC DED BY THE VE BEEN REDUC	T OR OTHER E	OCUMENT WITH RESPECT					
LTR			SUBR	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMITS					
	COMMERCIAL GENERAL CIABILITY					(B)(B)(C)(F)(F)	(MINNICALLITYTY)	EACH OCCURRENCE					
	CLAIMS-MADE OCCUR				1			DAMAGE TO RENTED					
								PREMISES (Ea occurrence) MED EXP (Any one person)					
		-	1					PERSONAL & ADV INJURY					
	GEN'L AGGREGATE LIMIT AF LIES PER	•						GENERAL AGGREGATE					
	POLICY PRO-				İ			PRODUCTS - COMP/OP AGG					
	OTHER;							7,00					
	AUTOMOSILE LIABILITY							COMBINED SINGLE LIMIT					
	ANY AUTO				}			(Ea accident)					
	ALL OWNED SCHEDULED							BODILY INJURY (Per person)					
	AUTOS AC. YOS							BODILY INJURY (Per accident)					
	HIRED AUTOS NCN-OWNED ALTOS							PROPERTY DAMAGE					
								(Per accident)					
	UMBRELLA LIAB OCCUR				1			EACH OCCURRENCE					
	EXCESS LIAB CLAIMS-MADE				ļ			AGGREGATE					
	DED RETENTION S												
	WORKERS COMPENSATION		-					IPER VIOTH					
	AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER-EXECUTIVE YIN				-			STATUTE X OTH-					
Α	OFFICER/MEMBER EXCLUDE: ??	N/A		76 WEG DR280	9	04/16/2018	04/16/2019	E.L. EACH ACCIDENT	\$1,000,000				
	(Mandatory in NH) If yes, describe under						0 11 10/2010	E.L. DISEASE -EA EMPLOYEE	\$1,000,000				
	DESCRIPTION OF OPERATIONS below					ĺ		E.L. DISEASE - POLICY LIMIT	\$1,000,000				
DEE													
Tho	CRIPTION OF OPERATIONS / LCGATIONS / VEHICLE Se usual to the Insured's ⊜perations. FOR	ES (ACC	ORD 101	, Additional Remarks Sche	edula, n	nay be attached if m	ioro space is require	ıd)					
		MPC	JKIVIA I	HUNAL PURPOSES	ONLY	Y							
	RTIFICATE HOLDER	/. L.				CANCELLATIO							
	R INFORMATIONAL PURPOSES ON	IL, Y		:	SHO	OULD ANY OF T	HE ABOVE DES	CRIBED POLICIES BE CANC	ELLED BEFORE				
	3 E BROADWAY RD STE 104-514				ACC	E EXPIRATION CORDANCE WITH	DATE THERE	OF, NOTICE WILL BE	DELIVERED IN				
1 = 1/	MPE AZ 85282-2081					HORIZED REPRESE		COMPANIES.					
				1	0	uean J. U	astaned						
					<u> </u>				in the control of the				

Item: Microsoft Surface Pro Mouse

Attachments



1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

> The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

	roducts	FOLL PLANTER					
13	lmage	Description	Porth	Yas	Gry	Unit Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255,66	\$117,347.94
2	, šķ	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	-90	\$329.58	\$29,662,20
4	. t/v_,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	90	\$107.04	\$9,633.60
5	Rist.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	\$0.9 H — KT, Myd	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	200	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	lorage	Description	Part #	Tak	Qsy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4.2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	1.0.1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	٨	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	certificate holder in lieu c? such endors	seme	1t(s).					•				
1	ODUCER JTOMATIC DATA PROCESSING IN:	e' 40	CV	CONTACT NAME:								
5	8250717	3 AG	Ci	PHONE (877) 287-1316		FAX: (88	38) 443-6112				
	HANOVER ROAD			(A/C, No, Ext):	(A/C, No, Ext): (A/C, No):							
	ORHAM PARK NJ07902			E-MAIL ADDRESS:	l ·							
					INSURER(S)	AFFORDING COVER	AGE	NAIC#				
				INSURER A: Ha	rtford Fire and Its F	&C Affiliates		00914				
i	SURED			INSURER B :			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
1	YPERTEC USA, INC			INSURER C :								
4	53 E BROADWAY RD 3TE 101-514			INSURER D :	,							
Į TE	EMPE AZ 85282-1590			INSURER E :								
				NSURER F :								
	OVERAGES CE	RTIF	CATE	IUMBER:		REVISI	ON NUMBER:					
T	THIS IS TO CERTIFY THAT THE POLICIES NDICATED NOTWITHSTANDING ANY REQI CERTIFICATE MAY BE ISSUED OR MAY PERMS, EXCLUSIONS AND CONDITIONS OF	Y PEI SUCH	RTAIN, POLICIE	THE INSTRUMENT A	FEODOED BY THE	TO THE INSURE T OR OTHER D	D NAMED ABOVE FOR					
LTR	TYPE OF INSURANCE	(ADDL	SUBR	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP		IMITS				
	COMMERCIAL GENERAL GABILITY	1	1		(WINDOWN TO THE	(MM/DD/YYYY)	EACH OCCURRENCE					
	CLAIMS-MADE OCCUR						DAMAGE TO RENTED					
							PREMISES (Ea occurrence) MED EXP (Any one person)					
							PERSONAL & ADV INJURY					
	GEN'L AGGREGATE LIMIT AFFLUES PER:	ſ					GENERAL AGGREGATE					
	POLICY JECT LOC	ļ					PRODUCTS - COMP/OP A	.GG				
	OTHER:											
	AUTOMOBILE LIABILITY	†					COMBINED SINGLE LIMIT					
	ANY AUTO						(Ea accident)					
	ALL OWNED SCHEDULED	ļ <u></u>					BODILY INJURY (Per perso	מרכ)				
	AUTOS ACTOS NON-OWNED	ļ					BODILY INJURY (Per accid	lent)				
	HIRED AUTOS AL TOS				Š		PROPERTY DAMAGE (Per accident)					
							1					
	UMBRELLA LIAB OCCUR EXCESS LIAB CLAIMS-MADE						EACH OCCURRENCE					
							AGGREGATE					
	DED RETENTION S											
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY						PER X O	TH-				
Α	ANY PROPRIETOR/PARTNER EXECUTIVE YIN				-		STATUTE A EF					
М	OFFICER/MEMBER EXCLUDE: 17 (Mandatory in NH)	N/ A		76 WEG DR280	9 04/16/2018	04/16/2019		\$1,000,000				
	If yes, describe under						E.L. DISEASE -EA EMPLOY					
	DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIM	ин \$1,000,000				
DESC The	CRIPTION OF OPERATIONS / LOCATIONS / VEHICLE	ES (AC	ORD 101,	Additional Remarks Scho	dulo, may be attached if n	tore space is require	(d)					
	se usual to the Insured's Operations. FOR	NFC	DRMAT	IONAL PURPOSES	ONLY							
	RTIFICATE HOLDER				CANCELLATIO							
	R INFORMATIONAL PURPOSES ON	a.Y		:	SHOULD ANY OF T	HE ABOVE DESC	CRIBED POLICIES BE C	CANCELLED BEFORE				
	3 E BROADWAY RD STE 104-514				THE EXPIRATION	DATE THERE	OF, NOTICE WILL	BE DELIVERED IN				
1 = 1/	MPE AZ 85282-2081				ACCORDANCE WIT		CONSTUNS.					
					Sugar J. U	astaned	a)					

Hypertec USA Inc. (Hypertec Direct)

Item: Microsoft Surface Pro Styus

Attachments

CITY OF PEMBROKE PINES - QUOTE.pdf



Hypertec Direct USA

1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes
DELIVERY - 30 DAYS ARO

Quotation (Open)

Date

Jun 26, 2019 02:15 PM MDT

Modified Date

Jul 11, 2019 09:22 AM MDT

Doc#

59887 - rev 1 of 1

Description

Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep

Dickinson, KC

(P) 866-787-0426 ext. 4235

Customer Contact

Office, Purchasing

(P) 954-704-1259

(F) 954-518-8902

purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info Customer PO:

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground

Carrier Account #:

Products

Pro	oducts						
核	lmage	Description	Parti	Yas	: Gry	Unti Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1,6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255.66	\$117,347.94
2	šių.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	JYV.	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
5	R:35	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L00000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.50 H - 60.494	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	- 20	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	lorage	Description	Part #	Tak	Qsy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4.2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	1.0.1	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	٨	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MINDED DAY 92Y)

09/20/2018 THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT NAME: AUTOMATIC DATA PROCESSING INSIAGCY PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. ADDL SUBR TYPE OF INSURANCE POLICY EFF POLICY EXP POLICY NUMBER i TR

	COMMERCIAL GENERAL (JABILITY	THOM	WYD		(MM/DD/YYYY)	(MM/DD/YYYY)	Littira	
					i i		EACH OCCURRENCE	
Ì	CLAIMS-MADE OCCUR				ŀ		DAMAGE TO RENTED	
İ							PREMISES (Ea occurrence)	
1		-	+				MED EXP (Any one person) PERSONAL & ADV INJURY	
Ē	GEN'L AGGREGATE LIMIT AFFUES PER:				-			
ĺ	POLICY PRC-						GENERAL AGGREGATE	
	JECT L	1					PRODUCTS - COMP/OP AGG	
	OTHER:							
	AUTOMOBILE LIABILITY	T					COMBINED SINGLE LIMIT	
ŀ	ANY AUTO				ļ.		(Ea accident)	
	ALLOWNED SCHEDULED		1.				BODILY INJURY (Per person)	•
Ì	AUTOS ACTOS	<u></u>					BODILY INJURY (Per accident)	
Ì	HIRED AUTOS NON-OWNED						PROPERTY DAMAGE	
j		ļ					(Per acc:dent)	
	UMBRELLA LIAB OCCUR	 				<u> </u>	EACH OCCURRENCE	
	EXCESS LIAB CLAIMS-MADE							
	DED JORGANIA				İ		AGGREGATE	
	DED RETENTION'S							
1 months	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY						PER X OTH-	
A	ANY PROPRIETOR/PARTNER: EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 77	N/A		76 WEG DR2809	04/16/2018	04/40/0040	E.L. EACH ACCIDENT	\$1,000,000
	(Mandatory in NH) If yes, describe under			70 WEG 5112003	04/10/2016	04/16/2019	E.L. DISEASE -EA EMPLOYEE	\$1,000,000
	DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$1,000,000
		1						
DESC	CRIPTION OF OPERATIONS / LOCATIONS / VEHICL	ES (AC	ORD 10	l, Additional Remarks Schedula	, may be attached if n	nore space is require	<u>'</u> d}	
Tho:	se usual to the Insured's ⊜perations. FOI	RINFO	DRMA"	TIONAL PURPOSES ON	LY	,	•	

CERTIFICATE HOLDER

FOR INFORMATIONAL PURPOSES ONLY 1753 E BROADWAY RD STE 104-514

TEMPE AZ 85282-2081

CANCELLATION

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

Sugar S. Castaneda

Hypertec USA Inc. (Hypertec Direct)

Item: Printer

Attachments

CITY OF PEMBROKE PINES - QUOTE.pdf



Hypertec Direct USA

1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes
DELIVERY - 30 DAYS ARO

Quotation (Open)

Date
Jun 26, 2019 02:15 PM MDT

Modified Date
Jul 11, 2019 09:22 AM MDT

Doc # 59887 - rev 1 of 1

Description
Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer Contact
Office, Purchasing
(P) 954-704-1259
(F) 954-518-8902
purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info Customer PO:

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

Products

	Products Image	Description	es .	2222			
1	60	Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459	\$255.66	Total \$117,347.94
2	\$ Q	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	J.194 <u>.</u> ,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	90	\$107.04	\$9,633.60
5	Right	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	E - KT ANA	IGEL Workspace Editlon for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	200	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10)	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832,64

#	losage	Description	Part #	Tak	Ory	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14	-	Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16		NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00.	\$16,275.00
17	- 	NEC NP01UCM Ceiling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smorthoard Dural Taxab Internation 1875 to 1	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS MSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE DED RETENTIONS WORKERS COMPENSATION X JOTH PER AND EMPLOYERS' LIABILITY STATUTE ANY PROPRIETOR/PARTNER EXECUTIVE Y/N OFFICER/MEMBER EXCLUDE: 17 E.L. EACH ACCIDENT \$1,000,000 N/ A 76 WEG DR2809 04/16/2018 04/16/2019 (Mandatory in NH) E.L. DISEASE -EA EMPLOYEE \$1,000,000 If ves, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT \$1,000,000 DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY CERTIFICATE HOLDER CANCELLATION FOR INFORMATIONAL PURPOSES ONLY SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE 1753 E BROADWAY RD STE 104-514 THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. TEMPE AZ 85282-2081

AUTHORIZED REPRESENTATIVE

Sugar S. Castaneda

Hypertec USA Inc. (Hypertec Direct)

Item: Projectors

Attachments

CITY OF PEMBROKE PINES - QUOTE.pdf



Hypertec Direct USA

1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT **Modified Date** Jul 11, 2019 09:22 AM MDT Doc# 59887 - rev 1 of 1 Description Bid TS-19-02 Chromebooks, Licenses, Carts SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

> The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

- 1	Pro	ducts						
	13	lmage	Description	Parti	Yan	City	Unit Price	Total
	1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US		459		\$117,347.94
	2	Sid.	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
	3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	1	JYL,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	90	\$107.04	\$9,633.60
į	5	Risi Marchine	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6	ò		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853,50
7	7		IGEL Workspace Editlon for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	3	14.70	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9)		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
1	0		Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

							_
18	image	Description	Part #	Tak	Osy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	LOS	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

 Subtotal:
 \$232,339.19

 Tax (7.000%):
 \$16,263.74

 Shipping:
 \$0.00

 Total:
 \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MINDODAY 92Y)

09/20/2018 THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS INSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE DED RETENTIONS WORKERS COMPENSATION X JOTH PER AND EMPLOYERS' LIABILITY STATUTE ANY PROPRIETOR/PARTNER EXECUTIVE Y/N E.L. EACH ACCIDENT \$1,000,000 OFFICER/MEMBER EXCLUDE: 17 N/ A 76 WEG DR2809 04/16/2018 04/16/2019 (Mandatory in NH) E.L. DISEASE -EA EMPLOYEE \$1,000,000 If ves, describe under E.L. DISEASE - POLICY LIMIT DESCRIPTION OF OPERATIONS below \$1,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY

CERTIFICATE HOLDER	
FOR INFORMATIONAL PURPOSES ONLY	-
1753 E BROADWAY RD STE 104-514	

TEMPE AZ 85282-2081

CANCELLATION

SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

Sugar S. Castaneda

Hypertec USA Inc. (Hypertec Direct)

Item: Projector Ceiling Mount

Attachments

CITY OF PEMBROKE PINES - QUOTE.pdf



Hypertec Direct USA

1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO Quotation (Open)

Date

Jun 26, 2019 02:15 PM MDT

Modified Date

Jul 11, 2019 09:22 AM MDT

Doc#

59887 - rev 1 of 1

Description

Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep

Dickinson, KC

(P) 866-787-0426 ext. 4235

Customer Contact

Office, Purchasing

(P) 954-704-1259

(F) 954-518-8902

purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground

Carrier Account #:

	roducts	to a coma					
*	lmage	Description	Port	Yas	City	Unit Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255,66	\$117,347.94
2	\$14 177-17-1	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	uty <u>u</u> ,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	90	\$107.04	\$9,633.60
5	Risk maybolo	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.12 st — schala	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	Dit.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10)	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	brage	Description	Part 8	Tak	Quy	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14		Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16	L.C.	NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00	\$16,275.00
17	۶	NEC NP01UCM Celling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smartboard Dual Touch Interactive Whiteboard 77 inch	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MINDODAY 92Y)

09/20/2018 THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). CONTACT AUTOMATIC DATA PROCESSING INSIAGCY NAME: PHONE (877) 287-1316 FAX (888) 443-6112 76250717 (A/C, No, Ext): (A/C, No): 71 HANOVER ROAD E-MAIL FLORHAM PARK NJ07932 ADDRESS: INSURER(S) AFFORDING COVERAGE NAIC# INSURER A: Hartford Fire and Its P&C Affiliates 00914 INSURED INSURER B : HYPERTEC USA, INC INSURER C : 1753 E BROADWAY RD 3TE 101-514 INSURER D: TEMPE AZ 85282-1590 MSURER E : MISURER F : **COVERAGES** CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. INSR ADDL SUBR POLICY EFF TYPE OF INSURANCE POLICY EXP POLICY NUMBER LTR LIMITS MSR WVD (MM/DD/YYYY) (MM/DD/YYYY) COMMERCIAL GENERAL CIABILITY EACH OCCURRENCE CLAIMS-MADE OCCUR DAMAGE TO RENTED PREMISES (Ea occurrence) MED EXP (Any one person) PERSONAL & ADV INJURY GEN'L AGGREGATE LIMIT AFFILIES PER GENERAL AGGREGATE PRC-POLICY LOC SECT PRODUCTS - COMP/OP AGG OTHER; AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (Ea accident) ANY AUTO BODILY INJURY (Per person) ALL OWNED SCHEDULED **AUTOS** AUTOS BODILY INJURY (Per accident) NON-OWNED HIRED AUTOS PROPERTY DAMAGE At TOS (Per accident) UMBRELLA LIAB OCCUR EACH OCCURRENCE EXCESS LIAB CLAIMS-MADE AGGREGATE

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) Those usual to the Insured's Operations. FOR INFORMATIONAL PURPOSES ONLY CERTIFICATE HOLDER CANCELLATION FOR INFORMATIONAL PURPOSES ONLY SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE 1753 E BROADWAY RD STE 104-514 THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. TEMPE AZ 85282-2081 AUTHORIZED REPRESENTATIVE Sugar S. Castaneda

04/16/2018

76 WEG DR2809

X JOTH

\$1,000,000

\$1,000,000

\$1,000,000

PER

04/16/2019

STATUTE

E.L. EACH ACCIDENT

E.L. DISEASE -EA EMPLOYEE

E.L. DISEASE - POLICY LIMIT

DED

(Mandatory in NH)

If ves, describe under

RETENTIONS

ANY PROPRIETOR/PARTNER EXECUTIVE

DESCRIPTION OF OPERATIONS below

Y/N

N/ A

WORKERS COMPENSATION

AND EMPLOYERS' LIABILITY

OFFICER/MEMBER EXCLUDE: 17

Hypertec USA Inc. (Hypertec Direct)

Item: SMART Boards 77

Attachments

CITY OF PEMBROKE PINES - QUOTE.pdf



Hypertec Direct USA

1868 E. Broadway Rd Tempe, Arizona 85282 United States http://www.hypertecdirect.com/ (P) 1-866-787-0426 (F) 480-626-9001

Customer Notes DELIVERY - 30 DAYS ARO

Quotation (Open) Date Jun 26, 2019 02:15 PM MDT

Modified Date Jul 11, 2019 09:22 AM MDT

Doc# 59887 - rev 1 of 1

Description Bid TS-19-02 Chromebooks, Licenses, Carts

SalesRep Dickinson, KC (P) 866-787-0426 ext. 4235

Customer Contact Office, Purchasing (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Customer

The City of Pembroke Pines (TC9280) Office, Purchasing 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902

Bill To

The City of Pembroke Pines Payable, Accounts 13975 Pembroke Road Pembroke Pines, FL 33026 **United States** (P) 954-704-1259 (F) 954-518-8902 purchasing@ppines.com

Ship To

The City of Pembroke Pines Department, Technology Services 10100 Pines Blvd. Bidg. A, 3rd Fl. Pembroke Pines, FL 33026 United States (P) 954-704-1259 (F) 954-518-8902

Shipping and Payment Info **Customer PQ:**

Special Instructions:

Terms: Undefined

Ship Via: FedEx Ground Carrier Account #:

	roducts	to a coma					
*	lmage	Description	Port	Yas	City	Unit Price	Total
1		Lenovo 14e Chromebook 81MH A4 9120C / 1.6 GHz - Chrome OS - 4 GB RAM - 32 GB eMMC eMMC 5.1 - 14" 1920 x 1080 (Full HD) - Radeon R4 - Wi-Fi, Bluetooth - mineral gray - kbd: English - US	81MH0006US	Yes	459	\$255,66	\$117,347.94
2	\$14 177-17-1	Google Chrome OS Management Console License - academic	CROSSWDISEDU	Yes	459	\$23.40	\$10,740.60
3		IGEL Universal Desktop UD3 LX Thin client - DT - 1 x GX-424CC 2.4 GHz - RAM 2 GB - SSD 4 GB - Radeon R5 - GigE - IGEL Linux v11 - monitor: none	HAO120001B00000	Yes	90	\$329.58	\$29,662,20
4	utyr,	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L0000000000	Yes	90	\$107.04	\$9,633.60
5	Risk maybolo	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	90	\$54,96	\$4,946.40
6		IGEL Universal Desktop UD3-W10 Thin client - DTS - 1 x GX-424CC 2.4 GHz - RAM 4 GB - SSD 32 GB - Radeon R5 - GigE - Win 10 IOT - monitor: none	HAB250011B00000	Yes	10	\$485.35	\$4,853.50
7	\$0.12 st — schala	IGEL Workspace Edition for IGEL OS 11 License - Linux	BPP0L00000000000	Yes	10	\$107,04	\$1,070.40
8	Dit.	IGEL Workspace Edition Maintenance (3 years) - Linux	BMY3L0000000000	Yes	10	\$54.96	\$549.60
9		Mimio View 340H	1771044	Yes	8	\$590.82	\$4,726.56
10)	Mimio Teach Wireless Interactive Whiteboard System	1762262	Yes	4	\$958,16	\$3,832.64

#	losage	Description	Part #	Tak	Ory	Unit Price	Total
11		Microsoft Surface Pro 6 Tablet - Core i7 8650U / 1.9 GHz - Win 10 Pro - 16 GB RAM - 512 GB SSD NVMe - 12.3" touchscreen 2736 x 1824 - UHD Graphics 620 - Wi-Fi, Bluetooth - black - commercial	LQJ-00016	Yes	4	\$1,720.00	\$6,880.00
12		Microsoft Surface Pro Signature Type Cover Keyboard - with trackpad, accelerometer - backlit - English - North American layout - burgundy - commercial - for Surface Pro (Mid 2017), Pro 3, Pro 4	FFQ-00041	Yes	4	\$118.16	\$472.64
13		Microsoft Surface Mobile Mouse Mouse - optical - 3 buttons - wireless - Bluetooth 4:2 - burgundy - commercial	KGZ-00011	Yes	4	\$26.00	\$104.00
14	-	Microsoft Surface Pen Stylus - 2 buttons - wireless - Bluetooth 4.0 - burgundy - commercial	EYV-00025	Yes	4	\$73.00	\$292.00
15		HP LaserJet Pro M404dn Printer - monochrome - Duplex - laser - A4/Legal - 4800 x 600 dpi - up to 40 ppm - capacity: 350 sheets - USB 2.0, Gigabit LAN, USB host	W1A53A#BGJ	Yes	36	\$204.00	\$7,344.00
16		NEC ME331W LCD projector - portable - 3300 lumens - WXGA (1280 x 800) - 16:10 - LAN - with 3 years InstaCare Service	NP-ME331W	Yes	31	\$525.00.	\$16,275.00
17	- 	NEC NP01UCM Ceiling mount for projector - for NEC NP1000, NP2000, VT48, VT480, VT49, VT490, VT580, VT590, VT595, VT695; MultiSync VT580	NP01UCM	Yes	31	\$76.41	\$2,368.71
18		Smorthoard Dural Taxab Internation 1875 to 1	SBM680	Yes	5	\$2,247.88	\$11,239.40

Subtotal: \$232,339.19
Tax (7.000%): \$16,263.74
Shipping: \$0.00
Total: \$248,602.93



CERTIFICATE OF LIABILITY INSURANCE

DATE (MMD19792Y) 09/20/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATIONIS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	certificate holder in lieu c? such endors	seme	1t(s).					•		
1	ODUCER JTOMATIC DATA PROCESSING IN:	e' 40	CV	CONTACT NAME:						
76250717				PHONE (877) 287-1316 FAX: (888) 443-6112						
	HANOVER ROAD			(A/C, No, Ext):	(A/C, No, Ext): (A/C, No):					
	ORHAM PARK NJ07902			E-MAIL ADDRESS:						
				INSURER(S)	AFFORDING COVER	AGE	NAIC#			
				INSURER A: Ha	rtford Fire and Its F	&C Affiliates		00914		
i	SURED		INSURER B :							
1	YPERTEC USA, INC			INSURER C :	INSURER C:					
4	53 E BROADWAY RD 3TE 101-514			INSURER D :	,					
Į TE	EMPE AZ 85282-1590			INSURER E :						
				NSURER F :						
	OVERAGES CE	RTIF	CATE	IUMBER:		REVISI	ON NUMBER:			
T	THIS IS TO CERTIFY THAT THE POLICIES NDICATED NOTWITHSTANDING ANY REQI CERTIFICATE MAY BE ISSUED OR MAY PERMS, EXCLUSIONS AND CONDITIONS OF	Y PEI SUCH	RTAIN, POLICIE	THE INSTRUMENT A	FEODOED BY THE	TO THE INSURE T OR OTHER D	D NAMED ABOVE FOR			
LTR	TYPE OF INSURANCE	(ADDL	SUBR	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP		IMITS		
	COMMERCIAL GENERAL GABILITY	1	1		(WINDOWN TO THE	(MM/DD/YYYY)	EACH OCCURRENCE			
	CLAIMS-MADE OCCUR						DAMAGE TO RENTED			
							PREMISES (Ea occurrence) MED EXP (Any one person)			
							PERSONAL & ADV INJURY			
	GEN'L AGGREGATE LIMIT AFFLUES PER:	ſ					GENERAL AGGREGATE			
	POLICY JECT LOC	ļ					PRODUCTS - COMP/OP A	.GG		
	OTHER:									
	AUTOMOBILE LIABILITY	†					COMBINED SINGLE LIMIT			
	ANY AUTO						(Ea accident)			
	ALL OWNED SCHEDULED	ļ <u></u>					BODILY INJURY (Per perso	מרכ)		
	AUTOS ACTOS NON-OWNED	ļ					BODILY INJURY (Per accid	lent)		
	HIRED AUTOS AL TOS				Š		PROPERTY DAMAGE (Per accident)			
							1			
	UMBRELLA LIAB OCCUR EXCESS LIAB CLAIMS-MADE						EACH OCCURRENCE			
							AGGREGATE			
	DED RETENTION S									
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY						PER X O	TH-		
Α	ANY PROPRIETOR/PARTNER EXECUTIVE YIN				-		STATUTE A EF			
М	OFFICER/MEMBER EXCLUDE: 17 (Mandatory in NH)	N/ A		76 WEG DR280	9 04/16/2018	04/16/2019		\$1,000,000		
	If yes, describe under					}	E.L. DISEASE -EA EMPLOY			
	DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIM	ин \$1,000,000		
DESC The	CRIPTION OF OPERATIONS / LOCATIONS / VEHICLE	ES (AC	ORD 101,	Additional Remarks Scho	dulo, may be attached if n	tore space is require	(d)			
	se usual to the Insured's Operations. FOR	NFC	DRMAT	IONAL PURPOSES	ONLY					
	RTIFICATE HOLDER				CANCELLATIO					
	R INFORMATIONAL PURPOSES ON	ILY		:	SHOULD ANY OF T	HE ABOVE DESC	CRIBED POLICIES BE C	CANCELLED BEFORE		
	3 E BROADWAY RD STE 104-514				THE EXPIRATION	DATE THERE	OF, NOTICE WILL	BE DELIVERED IN		
1 = 1/	MPE AZ 85282-2081				ACCORDANCE WIT		CONSTUNS.			
					Sugar J. U	astaned	a)			

Supplier: Hypertec USA Inc. (Hypertec Direct)



Attachment A

CONTACT INFORMATION FORM

IN ACCORDANCE WITH "TS-19-02" titled "Chromebooks, Licenses, and Mobile Carts for Pembroke Pines Charter Schools" attached hereto as a part hereof, the undersigned submits the following:

A) Contact Information

The Contact information form shall be electronically signed by one duly authorized to do so, and in case signed by a deputy or subordinate, the principal's properly written authority to such deputy or subordinate must accompany the proposal. This form must be completed and submitted through www.bidsync.com as part of the bidder submittal. The vendor must provide their pricing through the designated lines items listed on the BidSync website.

COMPANY INFORMATION:

COMPANY: Hypertec USA Inc. (Hypertec Direct)

STREET ADDRESS: **1868 E. Broadway Rd.** CITY, STATE & ZIP CODE: **Tempe, AZ 85282**

PRIMARY CONTACT FOR THE PROJECT:

NAME: Mike Marracino TITLE: VP & GM

E-MAIL: bidsus@hypertec.com

TELEPHONE: 4806269000 FAX: 4806269001

AUTHORIZED APPROVER:

NAME: Mike Marracino TITLE: VP & GM

E-MAIL: bidsus@hypertec.com

TELEPHONE: 4806269000 FAX: 4806269001

SIGNATURE: Mike Marracino

B) Proposal Checklist

Did you make sure to submit the following items, as stated in section 1.5 "Proposal Requirements" of the bid package?

1. Attachment A - Contact Information Form	Yes 🔽
2. Attachment B - Non-Collusive Affidavit	Yes 🔽
W-9 (Rev. October 2018)	Yes 🔽
3. Attachment C - Proposer's Completed Qualification Statement	Yes 🔽

Did you make sure to update the following documents found under the "Vendor Registration" group of "Qualifications" on the BidSync website for the City of Pembroke Pines?

Vendor Information Form	Yes 🛂
Form W-9 (Rev. October 2018)	Yes 🗷
Sworn Statement on Public Entity Crimes Form	Yes 🗷
Local Vendor Preference Certification	Yes 🗸
Local Business Tax Receipts	Yes 🗹
Veteran Owned Small Business Preference Certification	Yes 🗸
Equal Benefits Certification Form	Yes 🗹
Vendor Drug-Free Workplace Certification Form	Yes 🗹
Scrutinized Company Certification	Yes 🗹

C) Sample Proposal Form

The following sample price proposal is for information only. The vendor must provide their pricing through the designated lines items listed on the BidSync website.

Base Option:

Item	Model & Part Number	QTY	Total Cost
Chromebook	Lenovo 14e Chromebook (81MH000LUS)	459	Price to be Submitted Via BidSync
Chromebook Mgmnt License	Google Chrome OS Console License (CROSSWDISGRT)	459	Price to be Submitted Via BidSync
Chromebook Cart	Earthwalk (CC30+ HE)	15	Price to be Submitted Via BidSync
Desktops	iGel Linux VDI thin clients UD3 (P/N: HAO120001B00000), with licensing (BPP0L0000000000) & 3 yr Maintenance (P/N: BMY3L0000000000)	90	Price to be Submitted Via BidSync
Desktops	iGel Windows VDI thin clients UD3 (P/N: HAB250011B00000), with licensing (BPP0L0000000000) & 3 yr Maintenance (P/N: BMY3L00000000000)	10	Price to be Submitted Via BidSync
Document Cameras	MimioView 340H	8	Price to be Submitted Via BidSync
Interactive Systems	Mimio Teach	4	Price to be Submitted Via BidSync
Microsoft Surface Pro	Surface Pro 6 with specs: 512GB, Intel Core i7, 16GB RAM	4	Price to be Submitted Via BidSync
Microsoft Surface Pro Keyboard	Signature Type - Burgundy	4	Price to be Submitted Via BidSync
Microsoft Surface Pro Mouse	Signature Type - Burgundy	4	Price to be Submitted Via BidSync
Microsoft Surface Pro Styus	Signature Type - Burgundy	4	Price to be Submitted Via BidSync
Printer	HP LJ Pro M402dn	36	Price to be Submitted Via BidSync
Projectors	NEC NP-ME331W	31	Price to be Submitted Via BidSync
Projector Ceiling Mount	NEC Ceiling Mount for NEX NP-ME331W	31	Price to be Submitted Via BidSync
SMART boards 77"	SMASBM680	5	Price to be Submitted Via BidSync



Supplier: Hypertec USA Inc. (Hypertec Direct)



Attachment B

NON-COLLUSIVE AFFIDAVIT

BIDDER is the **Hypertec USA Inc.** (Hypertec Direct),

(Owner, Partner, Officer, Representative or Agent)

BIDDER is fully informed respecting the preparation and contents of the attached Bid and of all pertinent circumstances respecting such Bid;

Such Bid is genuine and is not a collusive or sham Bid;

Neither the said BIDDER nor any of its officers, partners, owners, agents, representative, employees or parties in interest, including this affidavit, have in any way colluded, conspired, connived or agreed, directly or indirectly, with any other BIDDER, firm or person to submit a collusive or sham Bid in connection with the Contract for which the attached Bid has been submitted; or to refrain from bidding in connection with such Contract; or have in any manner, directly or indirectly, sought by agreement or collusion, or communications, or conference with any BIDDER, firm, or person to fix the price or prices in the attached Bid or any other BIDDER, or to fix any overhead, profit, or cost element of the Bid Price or the Bid Price of any other BIDDER, or to secure through any collusion conspiracy, connivance, or unlawful agreement any advantage against (Recipient), or any person interested in the proposed Contract;

The price of items quoted in the attached Bid are fair and proper and are not tainted by collusion, conspiracy, connivance, or unlawful agreement on the part of the BIDDER or any other of its agents, representatives, owners, employees or parties in interest, including this affidavit.

Printed Name/Signature Mike Marracino

Title VP & GM

Name of Company **Hypertec USA Inc.** (**Hypertec Direct**)

Supplier: Hypertec USA Inc. (Hypertec Direct)



Attachment C

PROPOSER'S QUALIFICATIONS STATEMENT

PROPOSER shall furnish the following information. Failure to comply with this requirement will render Bid non⁻responsive and shall cause its rejection. Additional sheets shall be attached as required.

PROPOSER'S Name and Principal Address:

1868 E. Broadway Rd. Tempe, AZ 85282

PROPOSER'S License Number:

(Please attach certificate of status, competency, and/or state registration.)

Number of years your organization has been in business 13

State the number of years your firm has been in business under your present business name 13

State the number of years your firm has been in business in the work specific to this solicitation: 13

Names and titles of all officers, partners or individuals doing business under trade name:

Mike Marracino, VP & GM

IF USING A FICTITIOUS NAME, SUBMIT EVIDENCE OF COMPLIANCE WITH FLORIDA FICTITIOUS NAME STATUTE.

Under what former name has your business operated? Include a description of the business. Failure to include such information shall be deemed to be intentional misrepresentation by the City and shall render the proposer non-responsive.

N/A

At what address was that business located?

N/A

Name, address, and telephone number of surety company and agent who will provide the required bonds on this contract:

N/A

Have you ever failed to complete work awarded to you. If so, when, where and why?

No Hypertec USA Inc. (Hypertec Direct) has not.

Have you personally inspected the proposed WORK and do you have a complete plan for its performance?

N/A

Will you subcontract any part of this WORK? If so, give details including a list of each sub-contractor(s) that will perform work in excess of ten percent (10%) of the contract amount and the work that will be performed by each subcontractor(s).

No work shall be subcontract for this solicitation.

The foregoing list of subcontractor(s) may not be amended after award of the contract without the prior written approval of the Contract Administrator, whose approval shall not be reasonably withheld.

List and describe all bankruptcy petitions (voluntary or involuntary) which have been filed by or against the Proposer, its parent or subsidiaries or predecessor organizations during the past five (5) years. Include in the description the disposition of each such petition.

N/A

List and describe all successful Bond claims made to your surety (ies) during the last five (5) years. The list and descriptions should include claims against the bond of the Proposer and its predecessor organization(s).

N/A

List all claims, arbitrations, administrative hearings and lawsuits brought by or against the Proposer or its predecessor organizations(s) during the last (10) years. The list shall include all case names; case, arbitration or hearing identification numbers; the name of the project over which the dispute arose; and a description of the subject matter of the dispute.

None

List and describe all criminal proceedings or hearings concerning business related offenses in which the Proposer, its principals or officers or predecessor organization(s) were defendants.

None

Are you an Original provider sales representative distributor, broker, manufacturer other, of the commodities/services proposed upon? If other than the original provider, explain below.

Yes

Have you ever been debarred or suspended from doing business with any governmental agency? If yes, please explain:

Hypertec USA Inc. (Hypertec Direct) has never been barred.

Describe the firm's local experience/nature of service with contracts of similar size and complexity, it the previous three (3) years:

N/A

The PROPOSER acknowledges and understands that the information contained in response to this Qualification Statement shall be relied upon by CITY in awarding the contract and such information is warranted by PROPOSER to be true. The discovery of any omission or misstatement that materially affects the PROPOSER's qualifications to perform under the contract shall cause the CITY to reject the Bid, and if after the award, to cancel and terminate the award and/or contract.

Hypertec USA Inc. (Hypertec Direct)

(Company Name)

bidsus@hypertec.com (Printed Name/Signature)

EQUAL BENEFITS CERTIFICATION FORM FOR DOMESTIC PARTNERS AND ALL MARRIED COUPLES

Except where federal or state law mandates to the contrary, a Contractor awarded a Contract pursuant to a competitive solicitation shall provide benefits to Domestic Partners and spouses of its employees, irrespective of gender, on the same basis as it provides benefits to employees' spouses in traditional marriages.

The Contractor shall provide the City and/or the City Manager or his/her designee, access to its records for the purpose of audits and/or investigations to ascertain compliance with the provisions of this section, and upon request shall provide evidence that the Contractor is in compliance with the provisions of this section upon each new bid, contract renewal, or when the City Manager has received a complaint or has reason to believe the Contractor may not be in compliance with the provisions of this section. Records shall include but not be limited to providing the City and/or the City Manager or his/her designee with certified copies of the Contractor's records pertaining to its benefits policies and its employment policies and practices.

The Contractor must conspicuously make available to all employees and applicants for employment the following statement:

"During the performance of a contract with the City of Pembroke Pines, Florida, the Contractor will provide Equal Benefits to its employees with spouses, as defined by Section 35.39 of the City's Code of Ordinances, and its employees with Domestic Partners and all Married Couples".

The posted statement must also include a City contact telephone number and email address which will be provided to each contractor when a covered contract is executed.

SECTION 1 DEFINITIONS

- Benefits means the following plan, program or policy provided or offered by a contractor
 to its employees as part of the employer's total compensation package which may include
 but is not limited to sick leave, bereavement leave, family medical leave, and health
 benefits.
- 2. Cash Equivalent mean the amount of money paid to an employee with a domestic partner or spouse in lieu of providing benefits to the employee's domestic partner or spouse. The cash equivalent is equal to the employer's direct expense of providing benefits to an employee for his or her spouse from a traditional marriage.
- 3. Covered Contract means a contract between the City and a contractor awarded subsequent to the date when this section becomes effective valued at over \$25,000 or the threshold amount required for competitive bids as required in section 35.18(A) of the Procurement Code.
- 4. Domestic Partner shall mean any two (2) adults of the same or different sex who have registered as domestic partners with a governmental body pursuant to state or local law authorizing such registration, or with an internal registry maintained by the employer of at

least one of the domestic partners. A contractor may institute an internal registry to allow for the provision of equal benefits to employees with domestic partners who do not register their partnerships pursuant to a governmental body authorizing such registration, or who are located in a jurisdiction where no such governmental domestic partnership registry exists. A contractor that institutes such registry shall not impose criteria for registration that are more stringent than those required for domestic partnership registration by the City of Pembroke Pines.

- 5. Equal benefits means the equality of benefits between employees with spouses and/or dependents of spouses and employees with domestic partners and/or dependents of domestic partners, and/or between spouses of employees and/or dependents of spouses and domestic partners of employees and/or dependents of domestic partners.
- 6. Spouse means one member of a married pair legally married under the laws of any state within the United States of America or any other jurisdiction under which such marriage is legally recognized, irrespective of gender.
- 7. Traditional marriage means a marriage between one man and one woman.

SECTION 2 CERTIFICATION OF CONTRACTOR

The firm providing a response, by virtue of the signature below, certifies that it is aware of the requirements of Section 35.39 "City Contractors providing Equal Benefits for Domestic Partners and all Married Couples" of the City's Code of Ordinances, and certifies the following (Check only one box below):

✓	Α.	Contractor currently complies with the requirements of this section; or
	₿.	Contractor will comply with the conditions of this section at the time of contract award; or
	c.	Contractor will not comply with the conditions of this section at the time of contract award: or
	D.	Contractor does not comply with the conditions of this section because of the following allowable exemption (Check only one box below):
		$\hfill \square$ 1. The Contractor does not provide benefits to employees' spouses in traditional marriages;
		2. The Contractor provides an employee the cash equivalent of benefits because the Contractor is unable to provide benefits to employees' Domestic Partners or spouses despite making reasonable efforts to provide them. To meet this exception, the Contractor shall provide a notarized affidavit that it has made reasonable efforts to provide such benefits. The affidavit shall state the efforts taken to provide such benefits and the amount of the cash equivalent. Cash equivalent means the amount of money paid to an employee with a Domestic Partner or spouse rather than providing benefits to the employee's Domestic Partner or spouse. The cash equivalent is equal to the employer's direct expense of providing benefits to an employee's spouse;

3. The Contractor is a religious organization, association, society, or any non-profit charitable or educational institution or organization operated supervised or controlled by or in conjunction with a religious organization, association, or society;
☐ 4. The Contractor is a governmental agency;
The certification shall be signed by an authorized officer of the Contractor. Failure to provide such certification (by checking the appropriate boxes above along with completing the information below) shall result in a Contractor being deemed non-responsive.
COMPANY NAME: Hypertec USA Inc. (Hypertec Direct)
AUTHORIZED OFFICER NAME / SIGNATURE: HIKE HARRACINO



To Whom It May Concern,

Hypertec USA Inc. (Hypertec Direct) is not claiming Local Vendor Preference for both Pembroke Pines or Broward County, there for we do not have a current business tax receipts to submit.

We currently do not hold any contracts with the City of Pembroke Pines or with Broward County. I verify that this statement is true and correct by applying my signature below.

Should you have any further questions or concerns, please do not hesitate to contact me.

Kind Regards,

Mike Marracino VP & GM

LOCAL VENDOR PREFERENCE CERTIFICATION

SECTION 1 GENERAL TERM

LOCAL PREFERENCE

The evaluation of competitive bids is subject to section 35.36 of the City's Procurement Procedures which, except where contrary to federal and state law, or any other funding source requirements, provides that preference be given to local businesses. To satisfy this requirement, the vendor shall affirm in writing its compliance with either of the following objective criteria as of the bid or proposal submission date stated in the solicitation. A local business shall be defined as:

1. "Local Pembroke Pines Vendor" shall mean a business entity which has maintained a permanent place of business with full-time employees within the City limits for a minimum of one (1) year prior to the date of issuance of a bid or proposal solicitation. The permanent place of business may not be a post office box. The business location must actually distribute goods or services from that location. In addition, the business must have a current business tax receipt from the City of Pembroke Pines.

OR;

2. "Local Broward County Vendor" shall mean or business entity which has maintained a permanent place of business with full-time employees within the Broward County limits for a minimum of one (1) year prior to the date of issuance of a bid or proposal solicitation. The permanent place of business may not be a post office box. The business location must actually distribute goods or services from that location. In addition, the business must have a current business tax receipt from the Broward County or the city within Broward County where the business resides.

A preference of five percent (5%) of the total evaluation point, or five percent (5%) of the total price, shall be given to the **Local Pembroke Pines Vendor(s)**; A preference of two and a half percent (2.5%) of the total evaluation point for local, or two and a half percent (2.5%) of the total price, shall be given to the **Local Broward County Vendor(s)**.

COMPARISON OF QUALIFICATIONS

The preferences established in no way prohibit the right of the City to compare quality of supplies or services for purchase and to compare qualifications, character, responsibility and fitness of all persons, firms or corporations submitting bids or proposals. Further, the preference established in no way prohibit the right of the city from giving any other preference permitted by law instead of the preferences granted, nor prohibit the city to select the bid or proposal which is the most responsible and in the best interests of the city.

SECTION 2 AFFIRMATION

LOCAL PREFERENCE CERTIFICATION:

Place a check mark here only if affirming bidder meets requirements above as a Local Pembroke Pines Vendor. In addition, the business must attach a current business tax receipt from the City of Pembroke Pines along with any previous business tax receipts to indicate that the business entity has maintained a permanent place of business for a minimum of one (1) year.						
Place a check mark here only if affirming bidder meets requirements above as a Local Broward County Vendor. In addition, the business must attach a current business tax receipt from the Broward County or the city within Broward County where the business resides along with any previous business tax receipts to indicate that the business entity has maintained a permanent place of business for a minimum of one (1) year.						
☑ Place a check mark here only if affirming bidder does not meet the requirements above as a Local Vendor.						
Failure to complete this certification at this time (by checking either of the boxes above) shall render the vendor ineligible for Local Preference. This form must be completed by/for the proposer; the proposer <u>WILL NOT</u> qualify for Local Vendor Preference based on their sub-contractors' qualifications.						
COMPANY NAME: Hypertec USA Inc. (Hypertec Direct)						
PRINTED NAME / AUTHORIZED SIGNATURE:						

SCRUTINIZED COMPANY CERTIFICATION PURSUANT TO FLORIDA STATUTE § 287.135.

_{I,} Mike Marracino, EVP	, on behalf of Hypertec USA Inc. (Hypertec Direct)
Print Name and Title	Company Name
certify that Hypertec USA In	c. (Hypertec Direct)
	Company Name

- 1. Does not participate in a boycott of Israel; and
- 2. Is not on the Scrutinized Companies that Boycott Israel list; and
- 3. Is not on the Scrutinized Companies with Activities in Sudan List; and
- 4. Is not on the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List; and
- 5. Has not engaged in business operations in Syria.

Submitting a false certification shall be deemed a material breach of contract. The City shall provide notice, in writing, to the Contractor of the City's determination concerning the false certification. The Contractor shall have ninety (90) days following receipt of the notice to respond in writing and demonstrate that the determination of false certification was made in error. If the Contractor does not demonstrate that the City's determination of false certification was made in error then the City shall have the right to terminate the contract and seek civil remedies pursuant to Florida Statute § 287.135.

Section 287.135, Florida Statutes, prohibits the City from: 1) Contracting with companies for goods or services in any amount if at the time of bidding on, submitting a proposal for, or entering into or renewing a contract if the company is on the Scrutinized Companies that Boycott Israel List, created pursuant to Section 215.4725, F.S. or is engaged in a boycott of Israel; and 2) Contracting with companies, for goods or services over \$1,000,000.00 that are on either the Scrutinized Companies with activities in the Iran Petroleum Energy Sector list, created pursuant to s. 215.473, or are engaged in business operations in Syria.

As the person authorized to sign on behalf of the Contractor, I hereby certify that the company identified above in the section entitled "Contractor Name" does not participate in any boycott of Israel, is not listed on the Scrutinized Companies that Boycott Israel List, is not listed on either the Scrutinized Companies with activities in the Iran Petroleum Energy Sector List, and is not engaged in business operations in Syria. I understand that pursuant to section 287.135, Florida Statutes, the submission of a false certification may subject the company to civil penalties, attorney's fees, and/or costs. I further understand that any contract with the City for goods or services may be terminated at the option of the City if the company is found to have submitted a false certification or has been placed on the Scrutinized Companies with Activities in Sudan list or the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List.

Mike Marracino, EVP	(in)
Print Name / Title	Signature
Hypertec USA Inc. (Hypertec I	Direct)
Company Name	

2.

SWORN STATEMENT ON PUBLIC ENTITY CRIMES UNDER FLORIDA STATUTES CHAPTER 287.133(3)(a).

This sworn statement is submitted Hypertec USA Inc. (Hypertec Direction (name of entity submitting sworn statement)							
	(name of entity submitting sworn statement)						
who	se business address	_s 1868 E Br	oadway Rd.,	Tempe	AZ 85282		
and	(if applicable) its Fe	deral Employer Id	lentification Numb	er (FEIN) is			
98	-0511786	(If the	entity has no FEIN	, include the	Social Security		
Nun	nber of the individua	l signing this swo	rn statement:)		
	_{name is} Mike M	arracino					
-		(Please print nan	ne of individual sig	ning)			
relat	ionship to the entity						
direc polit limit prop work	ates, means a violation of a subdivision of a seed to, any bid, proporting on the transfer of a seed to, any contract and involving antitrusterial misrepresentation.	nsaction of busine my other state or vesal, reply, or con for the constructi , fraud, theft, brib	ess with any public with the United Stat tract for goods or so on or repair of a pu	entity or wites, includinervices, any oblic building	th an agency or g, but not lease for real g or public		
Flori with charg	lerstand that a "conv	icted" or "convict	ion" as defined in l	Paragraph 28	37.133(1)(b),		
	out an adjudication oges brought by indicingles, nonjury trial, or e	finding of guilt of guilt, in any fed ment or informat	leral or state trial co ion after July 1, 19	ourt of recor	d relating to		
I und mean	out an adjudication of ges brought by indication ict, nonjury trial, or e lerstand that an "affi	finding of guilt of of guilt, in any fed ment or informat entry of a plea of	leral or state trial co ion after July 1, 19 guilty or nolo conte	ourt of recor 89, as a resu endere.	d relating to lt of a jury		

An entity under the control of any natural person who is active in the management

affiliate. The Cityship by one person of shares constituting a controlling interest in another person, or a pooling of equipment or income among persons when not for fair market value under an arm's length agreement, shall be a prima facie case that one person controls another person. A person who knowingly enters into a

of the entity and who has been convicted of a public entity crime. The term "affiliate" includes those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in the management of an

Company Name

joint venture with a person who has been convicted of a public entity crime in Florida during the preceding 36 months shall be considered an affiliate.

6.	I understand that a "person" as defined in Paragraph 287.133(1)(e), Florida Statutes, means any natural person or any entity organized under the laws of any state or of the United States with the legal power to enter into a binding contract and which bids or applies to bid on contracts let by a public entity, or which otherwise transacts or applies to transact business with a public entity, or which otherwise transacts or applies to transact business with a public entity. The term "person" includes those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in management of an entity.
7.	Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sworn statement. (Please indicate which statement applies.)
	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
	B) The entity submitting this sworn statement, or one or more of the officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989, AND (Please indicate which additional statement applies.)
	B1) There has been a proceeding concerning the conviction before a hearing officer of the State of Florida, Division of Administrative Hearings. The final order entered by the hearing officer did not place the person or affiliate on the convicted vendor list. (Please attach a copy of the final order.)
	B2) The person or affiliate was placed on the convicted vendor list. There has been a subsequent proceeding before a hearing officer of the State of Florida, Division of Administrative Hearings. The final order entered by the hearing officer determined that it was in the public interest to remove the person or affiliate from the convicted vendor list. (Please attach a copy of the final order.)
	B3) The person or affiliate has not been placed on the convicted vendor list. (Please describe any action taken by or pending with the Department of General Services.)
Mike M	larracino (Caracino)
Bidder's	Olgrandi C
Нуре	ertec USA Inc. (Hypertec Direct) 7/2/19

Date

VENDOR DRUG-FREE WORKPLACE CERTIFICATION FORM

SECTION 1 GENERAL TERM

Preference may be given to vendors submitting a certification with their bid/proposal certifying they have a drug-free workplace in accordance with Section 287.087, Florida Statutes. This requirement affects all public entities of the State and becomes effective January 1, 1991. The special condition is as follows:

IDENTICAL TIE BIDS - Preference may be given to businesses with drug-free workplace programs. Whenever two or more bids that are equal with respect to price, quality, and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drugfree workplace program shall be given preference in the award process. Established procedures for processing tie bids will be followed if none of the tied vendors have a drug-free workplace program. In order to have a drug-free workplace program, a business shall:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after each conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

SECTION 2 AFFIRMATION

Place a check mark here only if affirming bidd Workplace.	der <u>complies fully</u> with the above requirements for a Drug-Free
☐ Place a check mark here only if affirming bidder	does not meet the requirements for a Drug-Free Workplace.
ineligible for Drug-Free Workplace Preference. Ti	by checking either of the boxes above) shall render the vendor his form must be completed by/for the proposer; the proposer erence based on their sub-contractors' qualifications. Dertec Direct)
Company Name	
Mike Marracino	
Authorized Signer Name	Authorized Signature



(OFFICE USE ONLY) Vendor number:	

Vendor Information Form

Operating Name (Payee)	Hypertec Direct					
Legal Name (as filed with IRS)	Hypertec USA Inc. (Hypertec Direct)					
Remit-to Address (For Payments)	1753 E Broadway Rd., Ste 101-514					
	Tempe, AZ 85282					
Remit-to Contact Name:		T				
Email Address:	Mike Marracino	Title:	EVP			
	bidsus@hypertec.com					
Phone #:	(480) 626-9000	Fax #	(480) 626-9001			
Order-from Address (For purchase orders)	1753 E Broadway Rd., Ste 101-514					
	Tempe, AZ 85282					
Order-from Contact Name:	Mike Marracino	Title:	EVP			
Email Address:	bidsus@hypertec.com					
Phone #:	(480) 626-9000	Fax#	(480) 626-9001			
Return-to Address (For product returns)	1868 E Broadway Rd					
	Tempe, AZ 85282					
Return-to Contact Name	Mike Marracino	Title:	EVP			
Email Address:	bìdsus@hypertec.com					
Phone #:	(480) 626-9000	Fax#	(480) 626-9001			
Payment Terms:	Net 30					
Type of Business (please check one and provide			ecurity Number)			
✓ Corporation	Federal ID N		98-0511786			
Sole Proprietorship/Individual	Social Security No.:					
Partnership						
Health Care Service Provider						
LLC - C (C corporation) - S (S corporat	ion) – P (partnership)					
Other (Specify):						
Name & Title of Ameliana Mike Marracine E						

VETERAN OWNED SMALL BUSINESS (VOSB) PREFERENCE CERTIFICATION

SECTION 1 GENERAL TERM

VETERAN OWNED SMALL BUSINESS (VOSB) PREFEREENCE

The evaluation of competitive bids is subject to section 35.37 of the City's Procurement Procedures which, except where contrary to federal and state law, or any other funding source requirements, provides that preference be given to veteran owned small businesses. To satisfy this requirement, the vendor shall affirm in writing its compliance with the following objective criteria as of the bid or proposal submission date stated in the solicitation. A veteran owned small business shall be defined as:

 "Veteran Owned Small Business" shall mean a business entity which has received a "Determination Letter" from the United States Department of Veteran Affairs Center for Verification and Evaluation notifying the business that they have been approved as a Veteran Owned Small Business (VOSB).

A preference of two and a half percent (2.5%) of the total evaluation point, or two and a half percent (2.5%) of the total price, shall be given to the **Veteran Owned Small Business (VOSB)**. This shall mean that if a **VOSB** submits a bid/quote that is within 2.5% of the lowest price submitted by any vendor, the **VOSB** shall have an option to submit another bid which is at least 1% lower than the lowest responsive bid/quote. If the **VOSB** submits a bid which is at least 1% lower than that lowest responsive bid/quote, then the award will go to the **VOSB**. If not, the award will be made to the vendor that submits the lowest responsive bid/quote. If the lowest responsive and responsible bidder (S a "Local Pembroke Pines Vendor" (LPPV) or a "Local Broward County Vendor" (LBCV) as established in Section 35.36 of the City's Code of Ordinances, entitled "Local Vendor Preference", then the award will be made to that vendor and no other bidders will be given an opportunity to submit additional bids as described herein.

If there is a LPPV, a LBCV, and a VOSB participating in the same bid solicitation and all three vendors qualify to submit a second bid, the LPPV will be given first option. If the LPPV cannot beat the lowest bid received by at least 1%, an opportunity will be given to the LBCV. If the LBCV cannot beat the lowest bid by at least 1%, an opportunity will be given to the VOSB. If the VOSB cannot beat the lowest bid by at least 1%, then the bid will be awarded to the lowest bidder.

If multiple VOSBs submit bids/quotes which are within 2.5% of the lowest bid/quote and there are no LPPV or LBCV as described in Section 35.36 of the City's Code of Ordinance, entitled "Local Vendor Preference", then all VOSBs will be asked to submit a Best and Final Offer (BAFO). The award will be made to the VOSB submitting the lowest BAFO providing that that BAFO is at least 1% lower than the lowest bid/quote received in the original solicitation. If no VOSB can beat the lowest bid/quote by at least 1%, then the award will be made to the lowest responsive bidder.

COMPARISON OF QUALIFICATIONS

The preferences established in no way prohibit the right of the City to compare quality of supplies or services for purchase and to compare qualifications, character, responsibility and fitness of all persons, firms or corporations submitting bids or proposals. Further, the preference established in no way prohibit the right of the city from giving any other preference permitted by law instead of the preferences granted, nor prohibit the city to select the bid or proposal which is the most responsible and in the best interests of the city.

SECTION 2 AFFIRMATION

VETERAN OWNED SMALL BUSINESS (VOSB) PREFEREENCE CERTIFICATION:

Place a check mark here only if affirming bidder meets requirements above as a Veteran Owned Small Business. In addition, the bidder must attach the "Determination Letter" from the U.S. Dept. of Veteran Affairs Center.
Place a check mark here only if affirming bidder does not meet the requirements above as a VOSB.
Failure to complete this certification at this time (by checking either of the boxes above) shall render the vendor ineligible for VOSB Preference. This form must be completed by/for the proposer; the proposer <u>WILL NOT</u> qualify for VOSB Preference based on their sub-contractors' qualifications.
COMPANY NAME: Hypertec USA Inc. (Hypertec Direct)
PRINTED NAME / AUTHORIZED SIGNATURE:

(Rev. October 2018)

Department of the Treasury Internal Revenue Service

Request for Taxpayer Identification Number and Certification

▶ Go to www.irs.gov/FormW9 for instructions and the latest information.

Give Form to the requester. Do not send to the IRS.

	Hypertec USA Inc.	do not leave this line blank.				
	2 Business name/disregarded entity name, if different from above					
s. Is on page 3.	Hypertec Direct 3 Check appropriate box for federal tax classification of the person whose name is entered on line 1. Check only one of the following seven boxes. Individual/sole proprietor or C C Corporation S Corporation Partnership Trust/estate single-member LLC			4 Exemptions (codes apply only to certain entities, not individuals; see instructions on page 3). Exempt payee code (if any)		
Print or type. Specific Instructions on page	Limited liability company. Enter the tax classification (C=C corporation, S Note: Check the appropriate box in the line above for the tax classification LLC if the LLC is classified as a single-member LLC that is disregarded from the owner for U.S. federal tax is disregarded from the owner for U.S. federal tax is disregarded from the owner should check the appropriate box for the	Exemption from FATCA reporting code (if any)				
å	Other (see instructions) ▶ 5 Address (number, street, and apt. or suite no.) See instructions.	Re	questor's name a	(Applies to accounts maintained outside the U.S.) and address (optional)		
See	Physical: 1868 E. Broadway Rd./Remit: 1753 E. Broadway Rd., Ste	. 101-514	quantities a	The decreas (optionar)		
S	6 City, state, and ZIP code					
	Tempe, AZ 85282					
	7 List account number(s) here (optional)					
80-10-						
Par	Taxpayer Identification Number (TIN)					
Entery	your TIN in the appropriate box. The TIN provided must match the nar	me given on line 1 to avoid		curity number		
resider	p withholding. For individuals, this is generally your social security nunt alien, sole proprietor, or disregarded entity, see the instructions for	mber (SSN). However, for a Part Llater, For other				
entities	s, it is your employer identification number (EIN). If you do not have a	number, see How to get a				
TIN, la			or	1.1		
Note:	If the account is in more than one name, see the instructions for line to er To Give the Requester for guidelines on whose number to enter.	Also see What Name and	Employer	identification number		
	and the measure of guidelines on mose hamber to onter.		9 8 .	_ 0 5 1 1 7 8 6		
Part						
	penalties of perjury, I certify that:					
2. I am Serv	number shown on this form is my correct taxpayer identification num i not subject to backup withholding because: (a) I am exempt from ba rice (IRS) that I am subject to backup withholding as a result of a failu onger subject to backup withholding; and	ckup withholding, or (b) I ha	ave not been no	otified by the Internal Revenue		
3. I am	a U.S. citizen or other U.S. person (defined below); and					
4. The	FATCA code(s) entered on this form (if any) indicating that I am exem	pt from FATCA reporting is	correct.			
Certification instructions. You must cross out item 2 above if you have been notified by the IRS that you are currently subject to backup withholding because you have failed to report all interest and dividends on your tax return. For real estate transactions, item 2 does not apply. For mortgage interest paid, acquisition or abandonment of secured property, cancellation of debt, contributions to an individual retirement arrangement (IRA), and generally, payments other than interest and dividends, you are not required to sign the certification, but you must provide your correct TIN. See the instructions for Part II, later.						
Sign Here	Signature of U/S. person ▶	Date	▶ 12-6-18			
Gen	neral Instructions	Form 1099-DIV (dividends, including those from stocks or mutual funds)				
Section references are to the Internal Revenue Code unless otherwise noted.		 Form 1099-MISC (various types of income, prizes, awards, or gross proceeds) 				
Future developments. For the latest information about developments related to Form W-9 and its instructions, such as legislation enacted after they were published, go to www.irs.gov/FormW9.		 Form 1099-B (stock or mutual fund sales and certain other transactions by brokers) 				
		Form 1099-S (proceeds from real estate transactions)				
Purpose of Form		Form 1099-K (merchant card and third party network transactions)				
An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number		 Form 1098 (home mortgage interest), 1098-E (student loan interest), 1098-T (tuition) 				
(SSN),	individual taxpayer identification number (ITIN), adoption	• Form 1099-C (canceled debt)				
(EIN)	er identification number (ATIN), or employer identification number or report on an information return the amount paid to you, or other	Form 1099-A (acquisition or abandonment of secured property) Use Form W-9 only if you are a LLS, person (including a resident				
amoun	t report of an information return the amount paid to you, or other treportable on an information return. Examples of information include, but are not limited to, the following.	Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN. If you do not return Form W-9 to the requester with a TIN, you might				
notions molode, but are not innited to, the following.		ii you oo not return Fo	mii vv-9 to the	requester with a TIN, you might		

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding,

· Form 1099-INT (interest earned or paid)